FIRG R (Study—Up/ — + B# 1 + A)pd~p27 fRE b

[SCTRRS tudy-Up/ — M T REREL)

(1) 7x%45x—1—3x2=(7—3)x%4+5x—1=4x>+5x—1

(2) 4a’+3a+1-2a*—9a+3=(4—2)a’+(3—9)a+(14+3)=2a’—6a+4
[SEThRStudy-Up / — M T RifE2]

1) —x?4+2x+3+4x2=(—14+4)x2+2x+3=32242x+3

2 a®—T7a+2-5a"+4a—6=(1-5)a’+(—7+4)a+(2—6)=—4a’—3a—4
[SEThStudy-Up / — M T R3]

(1) dax+2a+2°+7+x=22+a+1)x+2a+7)

2) x2—2xy+ 9 +3x+6y—8=x’4+(—2y+3)x+(y*+6y—8)
[SEThRStudy-Up / — M T RifE4]

(1) 5a%4ax+3x*—1—-2x=3x*+(a—2)x+(5a*—1)

(2) 2x%—5xy+2y>—3x+y+4=2224+(—5y—3)x+ (292 + y+4)
[E&iThiStudy-Up / — M= T [HigE5]

(1) A+B=02x2+4x—3)+(x*—3x+5) =2x2+4x—3+x2—3x+5
=2+ 1)x*+(4=3)x+(—3+45)=3x"+x+2

20 A—B=(2x244x—3)—(x2—3x+5) =24%+4x—3—x2+3x—5

=2-1x*+(4+3)x+(—3-5)=x>+T7x—8

[SETHEStudy-Up / — M T [HREe]

1) A+B=03x4+x2—6x+1)+4x*—2x—7) =343+ x> —6x+1+4x°—2x—7
=B+’ + 22+ (—6—-2)x+(1=7)=7x>+x>—8x—6

2 A—B=03x+x2—6x+1)—(42°—2x—7) =323+ x> —6x+1—4x°+2x+7
=B—x+ 22+ (—6+2)x+(1+7)=—2"+ 22— 4x+8

[SET S tudy-Up./ — M 1 RARET]

(1) 5a%x3a®=5x3x%xa?*®*=154"

(2) 4xix(—2x%) =4Xx(=2)x 2?3 =—84°

(3) 3x2yx4y®=3x4x 22X y1*3=12x%y*

@) (=5a%)%=(=5) x(a®)?xb?=25x a***x b*=25a%p"

[SETHRS tudy—-Up ./ — M #e T [HAES]

(1) 7a*X4a=7x4xa**'=28a"

2) (=32 x5x>=(—3)x5x x'*?=—15%5

(3) 2a’hx(—6a°h) =2X(—6)X a’*x b1t =—12a%">

(@) (—2229% =(—2)*x (x)3X (9 = —8x 223 x y*3 = _ 86"

[SETHRS tudy-Up/ — M EeF# T fHIAEY]

1
2
3
4

ala+2)=a’xa+a’x2=a’+2a?
(x2—x4+3)x2=a2X 22+ (—2) X 22+ 3x 22 =x*— x° + 312

(22 =Tx)(x+2)=

(2a’—a+4)a+3)=
=2a*+5a’+a+12
[&ETRStudy-Up / — b T [HRE10]
1)
2)
3)
4

(1
(2)
(3) (x2=Tx)x4+(x2=Tx) - 2=2—Tx24+ 22— 14x = x> — 542 — 14x
(4)

(2a°—a+4)a+2a?—a+4)-3=2a°—a’+4a+6a*—3a+12

(2a—3)a*=2aXa’*+(-3)xX a’=2a"—3a°®
4x%(x%+3x—6) —6) =4x"+124° — 2442
5)=a¥a—5)+5ala—5 =a’—5a’+5a®—25a =a®*—25a
Al +xy+y°)
= x4 alyt ayi—xly—xyi— =i

[SET RS tudy-Up./ — M 1 RiRELL]
1) (3x+5)°=(3x)?+2-3x-5+5°=9x24+30x+25
2 4y)P=22—2-x-4y+(dy) =22 —8xy+ 16>
3 2+3)2x—3)=(2%)2—32=4x2—9
a+5b)a—5b)=a’—(5b)=a’—25b"

2+ 4 x+5)=22+(4+5)x+4-5=x2+9x+20
6

(x4+3)x—2)=22+{34+(=2)}x+3-(—2
[&aThiStudy-Up / — M= T [HE12]
1) (2a—3)°=(2a)’—2-2a-3+3*=4a*—12a+9
2) (3a+2b)°=(3a)’+2-3a-2b+(2b)*=9a’+12ab + 4b*
3 (Tx—4)Tx+4)=(Tx)*—4*=49x"—16
(10a —3b)(10a + 3b) = (10a)? — (3b)* = 1002 > — 9b>
(
(

=4x2x 22+ 4x2x 3x+ 422 %(

(
(
(3) (a*+5a)a—
(

(x—y)(x®+xy+y?) =H2®+ 2y + y) —

xX—

~
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)=x%4+x—6

N

5
6

B x+2) =22+ {(—6)+2)x+(—6)-2= 22— dx—12
2x—T) =22 +{(—2)+(=D}x+(—2)-(=7) =22 —9x+ 14

xX—

@)
2
3
)
)
6)

xX—

No.1

[ET S tudy-Up / — M T [BiE13]

(1) Gx4+4)x+2)=5-1x2+(5-24+4-1)x+4-2=5x2414x+8

2) (Bx—2)Y4x—3)=3-4x*+(3-(=3)+(—2)-4}x+(—2)-(—=3)=124*—17x+6
3) (8a+5)2a+3)=8-2a°+(8-3+5-2)a+5-3=16a>+34a+15

@) (2a—T7(6a—1)=2-6a*+{2-(=1)+(=7)-6)la+(=7)-(=1)=12a*—44a +7
[EThiStudy-Up / — M- T [WiE14]

Q) (Tx=9)x+1)=7-1x*+{7-1+(=9)- L}x+(—9)- 1 =722 —2x—9

2) (2a+1)3a—2)=2-3a’+{2-(—2)+1-3}a+1-(—2)=6a’—a—2

3) (Ba—5)4a+1)=3-4a’+{3-14+(—5)-4}a+(—5)-1=12a*—17a—5

4) (9x+4)5x—8)=9-5x%+{9-(—8)+4-5}x+4-(—8)=45x*—52x—32

(TS tudy—Up / — MR T [ 15]

(1) (x+55)(x—2y) = x2+(5y—2y)x+5y-(—2y) = x*+ 3xy— 10y

2) (5x42y)3x+5y)=5-3x+(5-5y4+2y-3)x+2y-5y=15x>+31xy+10y°

(3) (4x+3a)6x—5a)=4-6x+{4-(—5a)+3a-6}x+3a-(—5a)=24x"—2ax—15a"
[SATHiStudy-Up/ — M4 T RRE16]

1) (x=3y)(x—=Ty)=22+(=3y—Ty)x+(—=3y)-(=7y) =2x>—10xy+21y°

@) (3a+2b)4a—5b)=3-4a’+{3-(—5b)+2b-4}a+2b-(—5b)=12a*—Tab—10b>
B) (8x—a)2x—Ta)=8-222+{8-(—=7a)+(—a)-2}x+(—a)-(—Ta)=16x>—58ax+Ta’
[ZEThRStudy-Up / — M= 1 [ELT]

1) a—b=A <,

(a—b+2)a—b—5=(A+2(A—-5=A%*+(2—-5A+2-(=5)
=A2—34A—-10=(a—b)*—3(a—b)—10
=a’—2ab+b%—3a+30—10

@) (x—y+2°2=x24+(—p)2+22+2%(—y)+2-(—y)z+22x

=224 924+ 22— 2xy—2yz+22x
(TRl S tudy-Up / — M T RRE18]
1) a+20=A &<,
(@a+2b+1Na+2b—1)=(A+1(A—-1)=A>—
=a’+4ab+462-1
(x4 y—3272=224 y? +(—32)2+ 249+ 2% —32)+2-(

1=(a+2b)?°-1

@) —3z2)x
=224+ 9?4+ 9224 2xy—6yz — 62
[YEThiStudy-Up / — M T RiiE19]
1) (a+5%a—57={(a+5(a—5)=
=a'—50a2+625

@) (P+4)(x+2)(x—2)=(x"+4) X (2 +2)(x—2)=
[YEThiStudy-Up / — M T RiiE20]

(1) (2x+ p)%2x— y)*={(2x+ y)2x — y)fP=(4x*— y?)*=

=16x1—8x%y% + y*

(a?—25)%=(a??—2-a%-25+25°

(24 4)(x2—4) =(x})2—42=x"—16

(4x2)2_2.4x2.y2+(y2)2

2) (9a®+1)3a+1)3a—1)=(9a*+1)x(3a+1)3a—1)=(9a*+1)(9a®-1)
=(9a¢%)2—-12=8la*-1
[YETIRS tudy-Up/ — M T [RIRE21]
1) x+y=A4 &B<,
(x4 y+5)(x+y—5) =(A+5)(A—-5=A%2-25=(x+ y)?—25=x2+2xy+ y2—25
2) (22+5)3x—1)=2-32%+{2+(—=1)+5-3}x+5-(—1) =6x2*+13x—5
(3) (x+8y)72=x%+2-x-8y+(8y)® =x2+16xy+64y*
@ (x+1x=7)= x+{1+<—7)}x+1-(—7)=x2—6x—7
6) (a—3)a+10)=a?+{(—3)+10}a+(—3)-10 =a®+7a—30
6) (2x—4y)5x+3y)= 2~5x2+{2-3y+(—4y)~5}x+(—4y)-3y=10x2—14xy—12y2
(7) (5—2a)5+2a)=5%—(2a)*=25—4a*
B) (22x—3)(2x+3)*={(2x—3)(2x+3))* =(4x2—9)>=(4x?)%*—2-4x%.9+9°
=16x*—72x%+81
9) (2a+b—3c)*=(2a)*+b%+(—3¢)*+2-2a-b+2b-(—3c)+2-(—3c)- 2a
=4a’+b5%+9c*+4ab—6bc—12ca
(10) (4a+5b)2a+4b)=4-2a*+(4-4b+5b-2)a+5b-4b =8a’+26ab +20b*

[&FThEStudy-Up / — M7 T RiRE22]
1) x—xy=zx-x—2x-y=2(x—y)

2) 6a’b+3ab*=3ab-2a+3ab-b=3ab2a+b)

(3) 2x%45xy—6x=x-2x+x-5y—x-6=x(2x+5y—06)
)

9a’x+6ax*—3ax=3ax-3a+3ax-2x—3ax-1=3ax(3a+2x—1)



FIRG R (Study—Up/ — + B# 1 + A)pd~p27 fRE b

[SCTRRS tudy-Up/ — ¥ T R3]

(
(
(
(

[&EThiStudy-Up / — M 1T [IRE24]
(1) alx+y)+2x+y)=(a+2)x+y)

(2) S(x—y)+(y—xa=5x—y)—(x—y)a=

[BEThRStudy-Up / — b T RARE25]

—_

[YEThRStudy-Up / — M T [R126]

[SCATRRS tudy-Up/ — MECF: T RHRRT]

)

)

)

) y2—13y4+30=y%+(—3—10)y+(—
)

)

)

[SETHiStudy-Up/ — ¥ T RiliE28]
a*—a—30=a’+(5—-6)a+5-(—6)=

[S&EThRStudy-Up / — M T [HRE29]
1) 2224 3x+1=(x+1)22+1)

2) 2x%4+x—3=(x—1)2x+3)
(3) 6x’+ax—a’=(2x+a)3x—a)
(4) 2x —xy—6y2=(x—2y)(2x+3y)

(5) 4x?—12xy+5y%=(2x— y)(2x—5y)

[S&EThRStudy-Up / — M T [B1RE30]
(1) 3x2—11x+6=(x—3)(3x—2)

2) 4ab®—12a%b =4ab-b—4ab-3a=4ab(b—3a)
3) 3xy+T7x—12x%y=x-3y+x-7T—x-12xy=x(3y+7—12xy)
4) 2ab®—4ab+8a®h?=2ab-b—2ab-2+2ab-4ab =2ab(b—2+4ab)

a’+12a+36=a’+2-a-6+6>=(a+6)

1)

(2) x*2—14x449=x2—2-2-7T+7*=(x—-T7)

(3) x2—10xy+25y2=2%—2-2-5y+(5y)=

4) 9x2+12xy+4y2=(3x)2+2-3x-2y+(2y)?2 =
(5) #2—16=22—42=(x+4)x—4)

6) x*—8ly*=x>—(9y)>=(x+9y(x—9y)

(7) 25a%*—64b%=(5a)*—(8b)? =(5a +8b)(5a — 8b)

) 4a’—4a+1=(2a)?-2-2a-1+12=(2a—1)?
) 2+ 18y+81=92+2-y-9+9%=(y+9)>

) 36a?—12ab+b%=(6a)*—2-6a-b+b%=

) 25a%—30ab+9b%=(5a)*—2-5a-3b+(3b)* =
) 4x2—121=(2x)—112=(2x+11)(2x —11)

) 36a?—49b%=(6a)’—(7b)*=(6a+7b)6a —T7b)

) 100m2— 9702 =(10m)? — (31)? = (10m + 3 )(10m — 3n)

22 4+5x+4=22+1+dx+1-4=(x+
22 4+3x—18=x2+(6—3)x+6-(—3)=
22— —42=22+(6-T)x+6-(=7)=
=(y—3)(y—10)
=(x+5y)(x—2y)
=(x+6y)(x—2y)
—9b)=(a—3b)a—9b)

22 43xy—10y2 =22+ (5y—29)x+5y-(—
22+ 4xy—12y" =24+ (6y—29)x+6y-(—
a®—12ab+27b%=0a’4+(—3b—9b)a +(—

22+ Tx+12=x"+(B+4)x+3-4=(x+3)(x+4)
22 —8x+12=x2+(—2—6)x+(—2)-(—
22 4+2x—15=22+(5—3)x+5-(=3)=(x+5)(«
2% —4xy—21y =24+ (3y— 7y)x+3y =(x+3y)(x—Ty)
22 —5ax—36a’=x>+(4a—9a)x+4a-(—
7 a’+2ab—24b*=a’+(6b—4b)a+6b - (

=(x+4a)x—9a)
—4b)=(a+6b)a—4b)

1><—1—>—2

2>< a —

—2y — _4y

-5y — —10y

No.2
(2) 6x2—x—2=(2x+1)3x—2) 2

>< o

—2 -1

(3) bx%—6ax—8a’=(x—2a)5x+4a) 1 >< —2a — —10a
4a

5 —8a? —6a

@) 2x24+13xy+6y2=(x+6y)(2x+y) 1 >< 6y — 12y
Yy

2 6y2 13y

(5) 6x2+11xy—T7y*=(22— y)(3x+7y) 9 —y - 3y
3 Ty — 14y

6 —7y? 11y

[&FThEStudy-Up / — M T RERES1]
1) x—2=A &8B<,
(x—2°4+6(x—2)+9=A%+6A4+9=(A+3)?2={(x—2)+32=(x+1)
2) x*=A £8<,
21— 242 41=A%-2A4+1=(A—-1P=(x> =12 ={(x+ 1) (2= D)PP=(x+ 1% x— 1)
[YETIRS tudy-Up/ — M T [RIRE32]
1) x—y=A LB,
(x—9)2+13(x—y)+42=A2+13A+ 42 =(A+6)A+T)={(x— y)+6){(x— y)+7)
=(x—y+6)(x—y+7)
2 x*=A £B<,
2—1=A—1=(A+1)A-1)=x*+1)(x*=1) =(x2+1)(x+ 1) (x—1)
[YEThEStudy-Up / — &2 T [HRE33]
x—ax—6x+3a+9=(—x+3)a+(x>—6x+9) = —(x—3)a+(x—3)%
=(x—-3)—a+(x-3)}=(x—3)x—a—3)
[SETHRStudy-Up ./ — ME&S: T [RE34]
22— xy+x+y—2=(—x+1Dy+(x2+x—-2)=—(x—1)y+(x+2)(x—1)
=(x—Di—y+(x+2)}=(x-1x—y+2)
[SETHRStudy-Up ./ — M- T [RE35]
(1) 2*+By—4)x+(y+1)2y—5) ={x+(y+D}x+2y—5)}=(x+y+1)(x+2y—5)
2) #2—xy—2y —x—Ty—6=22+(—y—1)x—(292+7y+6)
=124+ (—y—1Dx—(y+2)2y+3) ={x+(y+2){x—2y+3)} =(x+ y+2)(x—2y—3)
(3) 2a’—4ab+2b%—3a+3b—2=2a*4+(—4b—3)a+(2b2+3b—2)
=2a% 4 (—4b—3)a+(b+2)2b—1)={a—(b+2)}2a—(2b—1))
=(a—b—-2)2a—2b+1) 2>< gb-i-_Zl 4,:22;411

—4b-3

[SETIRS tudy-Up/ — M T [HIRE36]
1) 2*+2y+3)x—(y=2)3y+ 1) ={x+By+Dlx—(y—2)) =(x+3y+ 1) 2~ y+2)
@) x%4+4xy+3y24+2x+4y+1=22+(4y+2)x+(3y°+4y+1)
=224+ (4y+2)x+(y+1DBy+ 1) ={x+(y+D}x+By+ 1} =(x+ y+ 1)(x+3y+1)
(3) 4x +4ax—3a*+2x+7a—2=4x"+(4a+2)x—(3a’—Ta+2)
—dx’ 4 (da+2)x—(a—2)3a—1)={2x+(3a—1)[2x—(a—2))
=(2x+3a—1)2x—a+2) 3a 1% 6a—2

2>< —> —2a+4

da+2

[GEThiRStudy-Up / — e 1 FEIREST]

(1) 9a®—4962=(3a)>—(7b)* =(3a+7b)3a—"7b)

2) x°4+3xy+2y°+2x+7y—15=x"+(3y+2)x+(2y*+7y—15)
=22+(By+2)x+(y+5)(2y—3)={x+(y+5)}x+(2y—3)} =(x+ y+5)(x+2y—3)

3) 3a’+19ab—14b%=(a+7b)3a—2b) 1>< 7% —  21b
—2b — —=2b
@) x*=ALPB<, 3 —14b2 195

21 =342 42=A%-3A42=(A—-1)A-2)=(22—1)(x2=2) =(x+1)(x— 1) (x%—2)
() x2—15x+36=22+(—3—12)x4+(—3)-(—12)=(x—3)(x—12)
1+2y=ALB<,
(x+29)2+3(x+2y)—18=A%4+34—-18 =(A+6)(A—3)=(x+2y+6)(x+2y—3)
22472 —30=22+{10+(—=3)lx+10-(—3) =(x+10)x—3)
224+10x4+16=224+(2+8)x+2-8=(x+2)(x+8)
224 22y—8x—14y+7=22—14)y+ (22— 8x+7) =2x—T)y+(x—T)x—1)
=(x=72y+(x—1)}=(x=T)x+2y—1)
(10) 36a®—60a+25=(6a)*—2-6a-5+5%=(6a —5)°

=
(=2}
=

— =
© oo 3
= = =



FIRG R (Study—Up/ — + B# 1 + A)pd~p27 fRE b

(SRS tudy-Up/ — MECF T RS

(1) > 06818181+ =0.681
; .
2) & =11666- =116
[BEThStudy-Up / — F 52 T [HRE39]
a %:1.142857142857142857 ~~~~~~ = 1142857
2) 13 =1636363 =183
[SETRiStudy-Up./ — ¥ T RiliE40]
w27
ARG 3.27, 1741 =27
[BEThRStudy-Up / — M T [BIRE41]
9 .
3—3 VC&)%)O
L2 (S 3, 6
3
AT -15, 3, 028, —6
mEET VT +5
[SCTRRS tudy-Up/ — MECF T 42
D 17=
2) 3=5l=]-2=
‘i‘_i
2| =2
4 3 =17 THENL V31 =3 -1
[SCTRRS tudy-Up/ — ¥ T R3]
1 -1 =1
2) [6—2=4=4
4] <|¢|-4
5|15 5
4) /5=22 Thanrs  [2-V5l=—(2-V5)=V5 -
[SATHS tudy-Up / — M T FERE44]
) 3VZ x4V5 =3x4x V25 =12/10
JiT 1
3 —_—
@ =7
[BFTARS tudy-Up / — M0%%: T [R45]
2) 6\/§><9\/7:6X9XW:54\/€
Jis B
3 —_—
3 =6

[&EThRStudy-Up / — M 1T [#1RE46]

1) 25 455 =45 =(24+5—4)\/5 =35

) V12 —348 +2/27 =/2%.3 —3/4%-3 +2/3%.3 =23 —3x 43 +2x3/3
=23 —12/3 +6/3 =(2—1246)/3 = —4./3

[E&iThiStudy-Up / — MU T [HH47]

) 43 =T33 +243 =(4—T+2)/3 =—/3

2) /32 —2/18 +/50 =+/4%-2 —24/32.2 +/5%.2 =42 —2x3/2 +5/2
=42 —6/2 +5J2 =(4—6+512 =32

[T Study-Up / — M- T [H)/48]

(1) VZ(34++5)=+2 x3+/2/5 =342 +/10

(43 +2)(2/3 —32)
=4J§x2ﬁ+4ﬁx(—3«/§)+ﬁx2ﬁ+ﬁx(—3ﬁ)
=8X3—-12/6 +2/6 —3x2=24—6+(—12+2)/6 =18—10/6

[C&iThRStudy-Up / — M= T RE49]
1) V3(2VT —4)=+/3 X2J7 +/3 x(—4) =221 —4/3

(V2 +3J7)4V2 =J7)
=2 X4/2 +/2 X (=VT)+3J7 X442 + 3T X (=/7)

=4x2—+/14 +12/14 —3x7=8—-21+(—1+12)\/14 = —13+11/14

No.3
[CAThRStudy-Up / — MEUF T [#1R850]
(V3 +/5)2=(v/3)*+2+/3/5 +(v/5)2=3+2/15 +5=8+2/15
W7 +V2) VT =V2)=(JT)* (V2 )*=T-2=5
[CAThRStudy-Up / — MEUF T [#1R8E51]
(5—+2)2=52—2-5/2 +(4/2)?=25—10/2 +2=27—10/2

(v6 +3)(v/6 —3) =(+/6)?—32=6—9=—3
[ETkStudy-Up/ — M2 T [ifE52]

@ Lo V5 _6
V5 x5 5
6 6x3 63
Y F Ay 3
@ L 5 65
36 3/5 x5 3x5 15
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